Computer Proficiency Certification Test

Notations:
l.OptiOﬂS shomwl in greer color and with % icon are correct.

2 .Options shown in red color and with % icon are incorrect.

Question Paper Name: Scribe Computer Proficiency Certification Test 03rd August 2019 Shift 2
Subject Name: Scribe Computer Proficiency Certification Test
Creation Date: 2019-08-03 18:27:04
Duration: 125
Total Marks: 75
Display Marks: Yes
Calculator: None
Magnifying Glass Required?: No
Ruler Required?: No
Eraser Required?: No
Scratch Pad Required?: No
Rough Sketch/Notepad Required?: No
Protractor Required?: No
Show Watermark on Console?: No
Highlighter: No
Auto Save on Console?: No
CPCT
Group Number : 1
Group Id: 755905210
Group Maximum Duration : 100
Group Minimum Duration : 100
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 1
Mandatory Break time: Yes
Group Marks: 75

COMPUTER PROFICIENCY & FROFICIENCY [N GEMERAL IT SKILLS AND NETWORKING

Section Id : 755905390
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 52
Number of Questionsto be attempted: 52

Section Marks: 52
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section 1d: 755905390
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7559053585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In Excel, the simplest way to move data from one location to another is:

Options:

1. # Task Manager

2. ¢ Drag-and-drop method
3. % Mouse

4 # Shortcut menu

Question Number : 1 Question Id : 7559053585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Excel #, 2T &1 U ST & GHE ST UL o ST BT el ST LR 747 57

Options:

1. % grem B9

2. ¥ gT-Us-gh @t
3 % e

4. % gHwTiy

Question Number : 2 Question Id : 7559053586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is INCORRECT regarding copying of data in a Microsoft Excel cell?

Options:
1. # You can copy and paste anywhere in the same workshest or to a different worlksheet.
2. % The Copy operation involves use of two commands - Copy and Paste.

3 R Copy and Faste operation can be done either by using the Edit menu or by using the buttons on the
standard toolbar.

4. ¢ Data cannot be copied from one worksheet to another.

Question Number : 2 Question Id : 7559053586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Excel @ H 227 HTUT @9 & Gael H Tgim g § & &1 |7 79 T 27

Options:

1. % o e B i | AT Tt g wiEe # gl | S0 T W wed gl

2 ® Pt wHaE § of FHIS AHA 5Id & - FT A U

3. % ST oI UeT wATs o7 I GG (Edit) # T JURNT & AT W SURC0 U1 o el T ST & T AT qefeal T 21
4. ¥ 2T R U BTATAE F GH BITAE H T AR (w2 ST qwaT gl

Question Number : 3 Question Id : 7559053587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AlAn ______ is the basic entry to store any type of information in a computer.

Options:
1. % Icon
2. % Link



= ¥ File
4. % Folder

Question Number : 3 Question Id : 7559053587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e 1 Tt UeRTe W AR T R e o T O wiEi g

Options:

1. % ameaq
o % 5w
3. ¥ T
4. ® mivet

Question Number : 4 Question Id : 7559053588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Inn MS-Excel 2007, how Ao wou insert a row’?

Options:

1. ¥ Right-click the row heading where you want to insert the new row and select Insert from the shortcut
T,

= % Selact the row heading where you want to insert the new row and Select Edit » Row from the menu.
= # Select File > Insert from the menu.

4, % Selact the row heading where vou want to insert the new row and click Format on the standard toolbar,

Question Number : 4 Question Id : 7559053588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS5 Excel 2007 H, 30 U Uik 38 560 & 57

Options:

1.p-v”? T Ui o S O Z-Tarere @ AgT ST T8 Uik See HeAT ARd & 9 ATewe A d Insert T @4 F)

2 % 39 Uk & i FT o w SR S0 7 Uk SH w1 ATRd & S B & Edit > Row T 28 &

3. ® A HFile > Insert o =<9 @4

4 % I Uk & Siw FT oI TSR S0 9E U SHC ST AR & A BHE fee R 0 Insert Row e 0T Taow &4

Question Number : 5 Question Id : 7559053589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Word wrap means:

Options:

1. # inserting space between words

2. ® aligning text with the right margin

3. ¥ moving text autormatically to the next line

4, % gligning text with the justify setting

Question Number : 5 Question Id : 7559053589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Word wrap 1 T 0d6d 57
Options:

1. % aregt o o W ST
o % ISR O WRT SO W1 G AT T



3. ¥ T FT TOTied €0 SITET O 0T ST
4, % FAERIRAT AR & A TFET 1 GET BAT

Question Number : 6 Question Id : 7559053590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the absence of parentheses, the order of Operaticn is;

Options:

1. % exponentiation, addition or subtraction, multiplication or division
2 % zddition or subtraction, rmultiplication or division, expornentiation
. % multiplication or division, exponentiation, addition or subtraction

4. ¥ exponentiation, multiplication or division, addition or subtraction

Question Number : 6 Question Id : 7559053590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
B! T SO H, ST & &/ 3 27

Options:

1. % wrie, S AT g, 0 A
2. ® Sz 97 aeE, IO a7 T, T
3. ® U 97 TS, T, SIS 97w
4. g7, TOE AT S, S A7 T

Question Number : 7 Question Id : 7559053591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following methods will MOT cut the information?

Options:

1. ¥ Pressing CTEL + C

2. % Selecting Edit » Cut from the menu

3. % Clicking the Cut button on the standard
4. % Pressing CTEL + X

Question Number : 7 Question Id : 7559053591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T o & ®1 € 19T S @ e Tl wily

Options:

1.9 Ctrl + C gamT

2. % AHEdit » Cut T

3. ® O@ O Cut Fe 0 TFe @eAr

4 % Ctrl + ¥ 24T

Question Number : 8 Question Id : 7559053592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Ir1 Windows, which snap-ins is used to COHfingI'E distributed compute object rmodeal?

Options:
1. % Services

2. % Component



2. ¥ Cormpornent services

4. ® COomponent snap-ins

Question Number : 8 Question Id : 7559053592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
windows H, #19 O7 AU-5 Haid T0ET Sifesiae HISd 1 BB e o Tog Fu frar =T 27

Options:

1. ® wam

= ® UTw

3. ¥ T Ty
4 ® o @y-zoH

Question Number : 9 Question Id : 7559053593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key cormbination to move to the next title or body text placeholder in Microsoft PowerPoint?

Options:

1. % ENTER

2. % CTEL + ENTER
3. % SHIFT + EMTER

4. % ALT 4+ ENTER

Question Number : 9 Question Id : 7559053593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft PowerPoint # et s a7 12T d9%e woiag Ivad W A & 07 i1 S 1= 0T 87

Options:

1. # ENTER

= % CTEL + EMTER
3. ® SHIFT + ENTER
4 % ALT + ENTER

Question Number : 10 Question Id : 7559053594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wwhat is the key cormbination to wiew the computer task bar in Microsoft PowerPoint?

Options:

1. % CTREL + ¥
2 ¥ CTEL+T
3% ALT+V

4. % ALT+T

Question Number : 10 Question Id : 7559053594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft PowerPoint ¥ gy T a1 %1 <& & Tol] gt Fa = 47 37

Options:
1. % CTEL+¥
= ¥ CTEL+T



S R OALT+V
4 % AT +T

Question Number : 11 Question Id : 7559053595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which ey 15 used to start a slide show in Microsoft PowerPoint?

Options:
1. % Fz
2 % F1
3. % Fo
4 ¥ Fg

Question Number : 11 Question Id : 7559053595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Microsoft PowerPoint # ¥A158 ot & ®a- o Tl Tome it @7 o ferm AT 27
Options:

1. ¥ F3

= ®F1
S % p2
4 ¥ Fg

Question Number : 12 Question Id : 7559053596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following events is in the right order to print a chart with worksheet data in Microsoft Excel?
Options:

1. % view > Click on working Worksheet » Workbook Views > Page Lavout » Drag page on desired location =
Format > Click the Worlssheet > Click Microsoft Office Button = Click Print

2. % Click on working Worksheet > View > Workbook Views » Drag page on desired location > Page Layout
Format » Click the Worlksheet > Click Microsoft Office Button » Click Print

= ¥ Click on working Worksheet > View » Workbook Views > Page Layout > Drag page on desired location »
Format = Click the Worlssheet > Click Microsoft Office Button = Click: Print

4. ® View » Workbook Views > Click on working Worksheet > Page Layvout > Drag page on desired location =
Format = Click the Worksheet > Click Microsoft Office Button > Click: Print

Question Number : 12 Question Id : 7559053596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TRfeEd 8 & w1 |1 veAd Microsoft Excel B, ®eigieaed &1 22T & =1 @7 gl o& derg § #g %0 § 27

Options:
1. % 2 » wrdamr T 1Tl Y > WIAYdnT T T > G % Sl > Jyid CI6 U U8 F1 Fid 9 o S >
TOET > FEATCIE 0 w4 > Microsoft Office s 0 oo ®¢ > TgoT 0¥ e ¢

2 % FdETl TR U oo w > T > FIUET®T BT Sawim - ded T 0 UF B Wi W A > P S
FONET > AU O oo F > Microsoft Office sra ot e w¢ > Ygom o7 faemew &t

3. ¥ PP TR 0 TFerer o > 33 > FIEadT BT STaaid > U5 & T0Er > Gied T 0 g% & Gig B o 90 >
TET > FATEA ST 0T Toerk ¢ > Microsoft Office 52+ 0T oo #¢ > Ggom ot e @

4 % T > FTARTHET FT AR > WIRF FIAG TR U ot i > T8 & TO0ET > AMod T W U5 & Hid &0 o 90 >
FUCET > AU Ed T UK Toerek @4 > Microsoft Office s+ U oo ®¢ > Tgul WY e @

Question Number : 13 Question Id : 7559053597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Microsoft Excel 2007 and 2010 recogrnises

Options:
1. % macro-enabled

workbooks frorm the file extension xlsm

> * serure
3. # private

4 % encoded

Question Number : 13 Question Id : 7559053597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Excel 2007 & 2010, Bed Teadad xlsm &

Options:

1. Bw-aym
2 ® wigT

3 % T

4 % T=iZE

Question Number : 14 Question Id : 7559053598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& 15 a piece of programuring code that runs in Microsoft Excel enwironment and helps autorrate routine

Options:

1. % formula
= % program
3. ¥ macro

4. % module

Question Number : 14 Question Id : 7559053598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
______ ITTHTT SIS T Wef 91T & A7 Microsoft Excel oivehy § a@aT & o =i @l &f #a=iold @t § Ag &#eaT )

Options:

1. % mrdar
2 % gmm
3 v D@t

4. ® Hl=gA

Question Number : 15 Question Id : 7559053599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
BS Excel 2007 recognises macro—enabled workbooks from the file extension:

Options:

1. % xlsx
2. ¥ xlsm
3% s

4 % ylus

Question Number : 15 Question Id : 7559053599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Microsoft Excel 2007 ______ WIS Toad A o Heh -5 ceheeh ®1 UE==dT 5

Options:

1. % xlsx
2. ¥ xlsm
3. % xs

4 # ylus

Question Number : 16 Question Id : 7559053600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The shortcut 1o 2o to visual basic application (VEA) screen is:

Options:

1. % ALT +FS
2 ¥ ALT +F11
3. % ALT +F10

4 % AT +F2

Question Number : 16 Question Id : 7559053600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Terg et ol e TTerehal (WBA) Fohid UT AT o Tol] aifdehe &
Options:

1. % ALT +FS

= ¥ ALT +F11

3. % ALT +F10

4 % AT +F2

Question Number : 17 Question Id : 7559053601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The trusted websites generally use to define their security and identity.

Options:

1. % program

2. ® protocol

3. ¥ digital certificates
4. % code

Question Number : 17 Question Id : 7559053601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TeParar e See TS s STTH T 1Y U S101 GO ST UgalT= @1 T @ o Ty

Options:

1. % g

2 % UEimE

z. ¢ 2T wHE
4 % FE

Question Number : 18 Question Id : 7559053602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A web browser may deny
expired.

______ t0 a website or at least warn the users when certificate of the website is

Options:

1. % program
2. # protocol
2. % code

4 % access

Question Number : 18 Question Id : 7559053602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

e el darTTE e o WHIOHF T TR S AT TATH 51 ATd T 5 9T U da Ao S dadse® _____________ o EAHR B Al g AT
HH H T LAG R UATIAT S TRl 5l

Options:

1. % g
2 % T
3 % @ig

4 & FEd

Question Number : 19 Question Id : 7559053603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
DFI stands for:

Options:

1. % Dots Per Inch

2. % Dots Per Image
3. % Details Per Iimage

4 % Details Per Inch

Question Number : 19 Question Id : 7559053603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
DF1 &1 ol #0 27 37

Options:
1. ¢ Dots Per Inch (Z1¢H W &)
2 #® Dots Per Image (2726 T 50 )

3. # Details Per Image (IEded w500
4. % Details Per Inch (fEded o¢ &2

Question Number : 20 Question Id : 7559053604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the Display setting on Windows 10, what is the default orientation?

Options:

1. % Portrait

2. ¥ Landscape

3. % Landscape Flipped)
4. % Portrait Flipped)

Question Number : 20 Question Id : 7559053604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Windows 10 W 2o T, Enler s #7727

Options:

1. % Oz

2. ¥ e

3. ® dzeay (e
4. ¥ uifz (fware)

Question Number : 21 Question Id : 7559053605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The computer stores the information in the formof _____ .
Options:

1. ¥ files

2. ® images

3. % videos

4. % buttons

Question Number : 21 Question Id : 7559053605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
LY T 1 H AR GRd #0dT 57
Options:

1. ¥ GEA

2 % goee

3 ® iz

4. % goq

Question Number : 22 Question Id : 7559053606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is MOT a part of Window Menu bar?

Options:

1. # New
2. ® Open
3. #® Save

4.9 Import

Question Number : 22 Question Id : 7559053606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TafcET § & %1 a1 [daT B o1 1 0% 977 951 87
Options:

1. # Mew

= % Cpen

3. % Save

4. ¥ Import

Question Number : 23 Question Id : 7559053607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In______ algorithrmn, message is converted to message digest.
Options:

1. % Secret Key

2. % Public Key

3. ¥ Hash Function

4. % Popular Key

Question Number : 23 Question Id : 7559053607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
______ ey # H24T &1 A6 STgaee H gadl AT &)

Options:

L% gt
2. ® Uleod @
3. ¥ 3o G

4 % S G ()

Question Number : 24 Question Id : 7559053608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Microsoft Publisher publication has

Options:

1. % mpp
2. ¥ pub
Z. % pup

exteTISIion.

4 % msp

Question Number : 24 Question Id : 7559053608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
HTE® [MTFe Tiealal Tlesarad (Microsoft Publisher publication) T Taad 4= #4757

Options:
1. ¥ mpp
=z ¥ pub

3. % pup
4. % msp

Question Number : 25 Question Id : 7559053609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For what purpose does a laser printer use power evern in idle mode?

Options:

1. ¥ For maintaining the temperature of fuser
2. % For increasing the printing delay

2. % For cooling the toner

4. % For rotating the drum

Question Number : 25 Question Id : 7559053609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



TR O & o R s e i gig o o et =1 Juei #ear g7
Options:

1. T & FIIAT ST A0 T &

o % T v @ ¥ g

Z. % T ST @ & Ty

4 % gmy iRy

Question Number : 26 Question Id : 7559053610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the 64-hit processor supporting OS5 from the following options.

Options:

1. % Windows 95
2. % Windows 98
3. % Windows 2000

4. ¥ Windows 7

Question Number : 26 Question Id : 7559053610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TrafaT et § & 64 -TT wemT anida oS T
Options:

1. % Wwindows 95

2. % Windows 98

= % Windows 2000

4. ¥ Windows 7

Question Number : 27 Question Id : 7559053611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The purpose of unit testing is to:

Options:

1. #® test interaction armong modules in software
2. ® test user interaction in software

%, ¥ test individual parts of a program

4. % test linking of modules in software

Question Number : 27 Question Id : 7559053611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

SIS TR I T TR B

Options:

1. % Higzeaw | OIS & sie Uiy aTdeid

o ® HiFrday | IUITET] S AT ®T T
2. & U W & 27T T T ST T

4 % giFgcw | AT ®7 TRrdT T

Question Number : 28 Question Id : 7559053612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



which is the shortcut function key for Spelling and Grammar?
Options:
1. ® F1
o ® F2
Z. % Fz
4 ¥ F7

Question Number : 28 Question Id : 7559053612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

ga-T T S (Spelling and Grammar) & T sTéme Geaas g1 @14 91 87
Options:

1. ® F1

o ® Fz

3 ¥ F3

4 ¥ F7

Question Number : 29 Question Id : 7559053613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sham typed 'teh' plus a space, AutoCorrect replaces what vou typed with 'the'
The abowe thing can be achieved with which of the following features under AutoCorrect?

Options:

1. ¥ sutomatically detect and correct typos and misspelled words
2. % Identify misspelled words

3. % Automatically trace and correct typos and misspelled words

4. ® Trace and correct typos and misspelled words

Question Number : 29 Question Id : 7559053613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ATH = “teh’ @ T TR T TTeT T affet e, AT e TR T § 39 the' & nideritT § 2aT 8

IR a@TT AutoCorrect & 959 Hgierad # € T e & amer w6 S a7
Options:

1. & TaaEield ®0 F SISO & AT A T o seaf & ant weAr

2. ® T o deal &1 aaT AT

3. ® ToETEd ©F d TG @ AT T AT 0 Jeg ] el HN 3% el ® gAT
4 % TS & TAtd SR AT T deal ®m GEAT T Ivg Anl W oA

Question Number : 30 Question Id : 7559053614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Identify the staternent that is true with respect to the ‘uppercase’ option in the list of “Change Case’.

Options:

1. ® To capitalise the first letter of a sentence and leave all other letters as lowercase
2. % Toexclude capital letters from vour text

=, ¥ To capitalise all of the letters

4 % To Capitalize the first letter of each word and leave the other letters lowercase



Question Number : 30 Question Id : 7559053614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T B I U FE AT he dge! Gl H SV S Telded o Heiel § @R gl

Options:

1. % grer & Ugel T T Shite e o Ton ofl e |l afgil i Aleran & & f v & e
2 % I vees @ e SyRT W AT e o Tei)

3. ¢ it aryt @ Hitea w3 o

4 % UT Meg o Ugel G B iU w1 S STyl W Araed § T o o

Question Number : 31 Question Id : 7559053615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Using ______ of the browser helps the users to navigate the webpages and can click using a mouse.

Options:

1. % GUI

2 % Addon
3. % Flugin

4 % Address

Question Number : 31 Question Id : 7559053615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
%’IT:-'.GIT%‘ ______ T IO A & USR] T A=t 0 AT @0 # Aag TWad T 2 o o AT39 &1 SUANT Sich fdheidr @Y aed

Options:

1. GUI

Z % Addon
2. *® Plugin

4. % address

Question Number : 32 Question Id : 7559053616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich of the following items is NOT allowed to upload on Google drive?

Options:

1. % Image
=2 % Audio
2. ¥ Browser

4 % Docurmnent

Question Number : 32 Question Id : 7559053616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Google Drive W FHERET # & T SMEeH FT SIS F 1 gATd 1ol 27

Options:

1. % gi
2 % amigat
3. ¥ "I

4. ® EHEFEE_I?IE



Question Number : 33 Question Id : 7559053617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich of the following is NOT an authentication type to secure wireless LAN interface?

Options:

1. % WEP-64
Z % WPA-PSE
3. % WPAZ-PSK
4. ¥ WPMC

Question Number : 33 Question Id : 7559053617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR LAN STOe 1 GUiad ot & o] 775 § & @14 JT eI T Tgl 57

Options:

1. % WEP-£4
2. % WPA-PSE
3. % WPAZ-FSK
4. ¥ WPMC

Question Number : 34 Question Id : 7559053618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To start from ready to use mail merge template that can be custtrrnsed according to the needs, ” fradio

button has to be enabled under the ‘Select starting docurmnent’ for mail merging the email messages.
Options:

1. % Use the current docurnent

= % Start from a template

3. % Start from existing template

4. % Start using current docurnent

Question Number : 34 Question Id : 7559053618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T Wl oFieie, Tol STedd o AgaR FecHIges (ST =1 Har, W1 JUTT &t o [0, SHA Soat & OF BT e ‘Select starting
docurnent’ @ S1aTd e LI22T T2 & GyH AT T o7

Options:

1. % gdAe ZTFgHT FT SEIATH F (Use the current docurment)
2. o Tl ST & & @ (Start from a ternplate)

3. % dNgET tee & g% ® (Start from existing ternplate)

4 % gdAE ZTAgHT % IUANT & gF B (Start using current Aocurment)

Question Number : 35 Question Id : 7559053619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Among the different types of internet connections, the speed of

Options:

1. *® cable
= ¥ satellite
3. % DSL

4. % fiber optic

15 slowest.



Question Number : 35 Question Id : 7559053619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TG WeFTY o S20-T Fmidfar o =i,
Options:

1. % el

= ¥ gung

3. ¥ SiEue

4 % mgax AT E

EIRIEIEE T

Question Number : 36 Question Id : 7559053620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Internet connections in increasing order of download speed are:

Options:

1. ® Cable modermn, DSL, Dial up, Fiber optic
2. % Cable modern, Dial up, DSL, Fiber optic
3. ¥ Dial up, DL, Cable moderr, Fiber optic

4. % Dial up, Cable moderr, DSL, Fiber optic

Question Number : 36 Question Id : 7559053620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ETIAARE T & d5d ®H H Sei-e F-Ia9 50 TP 5

Options:

1. % e Hi2A, EUEUA, ST &0, Bgay Hied
2 R e HIZH, 1O A, SITHTH, BISe STed
%, o ZTA A, EEUA, thead HISA, BEar Hiited
4 R ZE &M, tad HioH, S I0H0H, HISay STtes

Question Number : 37 Question Id : 7559053621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Wwhich of the following is not a technology used for broadband connection?

Options:

1. #® Cable Modern

2. ¥ Dial up

Z. % Fibre optic service
4 % satellite

Question Number : 37 Question Id : 7559053621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TrgietiaT O & @& ATade S & ToiT JUi &1 AT gt aa-ii® dal 27

Options:

1. % Sad AleA

= ¥ 2T 20

3. ® WrEew TE® dar
4 ® FraEe



Question Number : 38 Question Id : 7559053622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What type of internet services are Electronic mail, Internet Eelay Chat (RC) and Internet Messaging?
Options:

1. ® Knowledge transfer services

2. % World Wide Web

3. ¥ Communication services

4 #* Information retrieval services

Question Number : 38 Question Id : 7559053622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ST Hef, Sat-e 1ot oie ((RC) 37T Ted el Sl GaT) UunT fofe Were &l Sed-ie Gy 27

Options:

Question Number : 39 Question Id : 7559053623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The process by which URLS are modified and standardised in a consistent manner is called:
Options:

1. % URL modification

2. % URL support

2. % URL balancing

4 % URL normalisation

Question Number : 39 Question Id : 7559053623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
I UTRT @ T FEd & radd 95d URL & 99 &0 F T Y ATd g [l A1a7 57

Options:

1. % URL #arem

2. % URL gaefq

3. % URL |gad

4. ¥ URL 9W-Aae

Question Number : 40 Question Id : 7559053624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

which of the following is NOT a type of comumunication network to provide corrmunication internet services?
Options:

1. ¥ Digital Cormmunication MNetworlk

2. % Switched Cornrmunication MNetwork

2. # Point-to-point network

4 % Broadrast Corrmunication MNetwork



Question Number : 40 Question Id : 7559053624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AR Eet-e Harell ®1 UgH @ o oy Taieiad # & &9 9T T2 Hedd &7 U@ HhW T2 o7

Options:

1. ¢ f&fea Tar Jead

2 ® Teme #oW Soda

3. % UEe-g-uEe (fega) dead
4 ® JHR TR STaw

Question Number : 41 Question Id : 7559053625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& character that is set slightly below the normal line is known as:

Options:

1. * ascender line
2. ¥ subscript

2. % mid line

4. # superscript

Question Number : 41 Question Id : 7559053625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ek ke, AT A (1 & HIST el T T A7 2, T 310 & ST 167 87

Options:

1. % WrErEr
2 gaiere

= % mugvEr

4. ® g %ﬁﬁlﬁ

Question Number : 42 Question Id : 7559053626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which shortcut is used to align the selected text towards the left of the screen?

Options:

1. % Ctrl + ]
2. % Ctrl +M
3% Crl+ K

4 % Cirl + L

Question Number : 42 Question Id : 7559053626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T o TS| IO St @ TIET @ T AT de FAT 57

Options:

1% Ctrl + ]
. % Ctrl +M
3% Crl + K
4 ¥ Ctrl + L



Question Number : 43 Question Id : 7559053627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Computer keeps rebooting itself likely means:

Options:

1. % it does rot have enough memory
= % there is no printer

3. ¥ it has a virus

4. % there is no keyboard

Question Number : 43 Question Id : 7559053627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ALY & T Nefe AT Tl &, T Hae &
Options:

1. % gt ol A g e

2. ¥ 3 W T T

3 g R §

4. % FEFEE T R

Question Number : 44 Question Id : 7559053628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fastest memory accessible by the CPU 15:

Options:

1. % RAM
= % ROM
3. ¥ Cache

4. % Flash

Question Number : 44 Question Id : 7559053628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CPU ERT G Fa o JART

Options:
1. % RAM
2. % ROM
3 ¥
4 % gog

Question Number : 45 Question Id : 7559053629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To access a mainframe or Super Computer, users often use a:

Options:

1. % Terrminal
= % Node

3. # Desktop

4. % Handheld



Question Number : 45 Question Id : 7559053629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HATH AT YUY e T Uyl o T, JULiTed | ST ford T JuinT @d 57

Options:

1. ¢ T (Terminal)
2. % 9= (MNode)

3. ® Ze@e (Desktop)

4. % 2z gr= Handheld)

Question Number : 46 Question Id : 7559053630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In the program window, which key(s) can be used to move to a task pane from another pane in clockwise
direction?

Options:
1. ¥ F&
2. % CTRL +F1
3. % FZ
4 % F4

Question Number : 46 Question Id : 7559053630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e fHET B, Tt woter & Tt @l woter T wat R e o S @ TonT T gt e SuRiT TR ST e 27

Options:
1. ¥ Fg
Z % CTREL +F1
3. % F2
4. % F4

Question Number : 47 Question Id : 7559053631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CTEL, SHIFT and ALT are called which type of keys?

Options:

1. % Modifier

2. % Furction

2. % Alphanumeric

4. # Adjustrient

Question Number : 47 Question Id : 7559053631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CTRL, SHIFT ¥ ALT 7 fofe WerTt T il gl <IraT 27

Options:

1. % Modifier

= % Function

2. # Alphanurmeric
4. % adjustment



Question Number : 48 Question Id : 7559053632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Modern card readers are electronic dewices that can read plastic cards embadded with a

Options:
1. % mAgnetic strip

Z % computer keyboard
3. # computer touch pad

4. % flash memory

Question Number : 48 Question Id : 7559053632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ST TS TIET UF Sodg - U g = ______ W T URISE TATEe & F1S 0% add gl

Options:

1. s ugt
2 R Gt dde
3 % FupEg iz
4 % geEtsr HANT

Question Number : 49 Question Id : 7559053633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Wwhich of the following standards deals only with contact smart cards and defines the various aspects of the
card and its interfaces, including the card’'s physical dimensions, the electrical interface and the
COMITMUNICations protocols?

Options:

1. ® [SOJIEC 7816 Parts 4, S and &
Z ¥ ISO|IEC 7216 Farts 1, Zand 3
3. % [SO[IEC 7816 Parts 3, 4and &
4 % [SO|IEC 7216 Parts 2, Zand 4

Question Number : 49 Question Id : 7559053633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

FEAET & & B9 A7 A® Fad w0 Fe | 0w A we & diidw amant, EE send o S WK RTE aied #1e 1T
TEH GEOHH o Tol 9T URels! Wi GTCATIeT FaT 27

Options:

1. % ISOJIEC 7816 Parts 4, Sand &

2. ¥ [SOJIEC 7816 Parts 1, Zand 2

3. % [SOJIEC 7816 Parts 3, 4and 5
!

4. % [SOJIEC 7216 Parts 2, 3and 4

Question Number : 50 Question Id : 7559053634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For a digital camera, the diaphragm and shutter admit the correct amourit of

Options:
1. % resolution

to the irmager.

= % intensity

3. #® energy



4. ¥ light

Question Number : 50 Question Id : 7559053634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
T T2 Tes T & T8y, STameTy o e

Options:

1. % fFTega (resolution)
2. % 54T lintensity)

3. % F4f (energy)

4, & TraAT (ight)

W AR ATAT W THAC H S e gl

Question Number : 51 Question Id : 7559053635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Early digital cameras used which port for interfacing with PC?

Options:

1. ¥ Serial port
2. % Parallel port
3. % 1SE port

4. % Display port

Question Number : 51 Question Id : 7559053635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
W & ed FAel oF PC o AT Se0lhd o Tond Tore O &7 S0 51T 417

Options:

1. & difmea o
o, % gAEET R
3. ¥ USE TR

4 % EEA R

Question Number : 52 Question Id : 7559053636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
& weeb camera CANMNOT be used with which of the following chat services?

Options:

1. % ACL Instant Messenger
= ® VoIP

2. ¥ Whatsapp

4 % Skype

Question Number : 52 Question Id : 7559053636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o AT T u gt § @ o D darstt o T gt e S a@are

Options:
1. % ACL Instant Messenger
2. % yoIP

2. ¥ WhatsApp



4. % Slype

READING COMPREEHERNSION
Section Id : 755905391
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905391
Question Shuffling Allowed : Yes

Question Id : 7559053637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label - Comprehension

Fead the given passage and answer the questions.
Greer Cabs

Recently a nurmber of environment Conscious taxi companies have cropped up in some cities in America. Their
mission is to appeal to riders to minimise carbon emissions on road. [n Arlington, for example, a company
called EnviroCAE launched itself as ‘the world's first carbon-negative taxi fleet’.

In Boston, the city has asked all taxi companies to 2o hybrid.

With rising gasoline prices, such companies compensate high investment costs by lowering operating costs.
Green Cab's 20 Prius taxicabs get an average of 21.2 km/l of gasoline. This is much lower as compared to 7 or
2 k|1 which a traditional taxi gives. Thus, lower fuel costs means cheaper taxi fares for customers.

Whern there are multiple such companies in a city, the competition becomes tough. The Green Cab taxies are
equipped with hi-tech taxi dispatch systerm that runs on custorm-rrade software prograr.

To keep fares low and ensure greener travel, Green Cab picks up passengers who are headed in the same
direction but if a passenger does rnot want to share he can Ao so by paying a little extra.

Green Cab's software systermn calculates the total fare as soon as a customer calls. This is how it works. AS S00n
as a call is made the call taker enters the rider’'s phone number, address, type of ride and destination into the
system. It also takes into account any extra taxes that need to be paid while crossing different city zone
borders. The fare is instantly calculated and the same is cormmunicated to the customer evern before the taxi
dIT1VeEs.

The taxi fee is set, regardless of what route the driver takes. All cars are equipped with i-pad computers that
are connected to Green Cab's booking software. These provide GPS navigation for the drivers.

Another unique feature is the additional facility given to environment-friendly custormers who wish to bike
part way and ride part way. For their convenience, the car carries a bicycle rack,
It i5 definitely a step in the right direction.

Sub questions

Question Number : 53 Question Id : 7559053638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Green Cabs are eco-friendly because they are powered by:

Options:

1. % electricity as well as petrol

2. % lower petrol consumption

3. % software that calculates fares

4. ¥ all of the given options combined

Question Number : 54 Question Id : 7559053639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following staterments is [INCORRECT?

Options:

1. ¥ Green Cabs are passenger friendly cars because people pay less if more passengers travel together.
2. % Green Cabs are passenger friendly cars because passengers can travel alone by paying a little extra,
3. ¥ Green Cabs are passenger friendly cars because the cars are fitted with hybrid engines.

4. % Green Cabs are passenger friendly cars because they have a rack to carry bicycles for bikers’
CONVENIETICE.

Question Number : 55 Question Id : 7559053640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The custormised software helps to calculate the fare instantly by

Options:

1. % calculating the total distance to be travelled

2. % calculating the taxes to be paid on zonal borders

= % informing the passengers about the fare before they board

4. ¥ calculating the total distance and zonal taxes if any

Question Number : 56 Question Id : 7559053641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Green Zabs union is cormrmitted to a cause which 15 to reduce:

Options:

1. # traffic jams on roads
2. ¥ carbon emissions in air
% % running cost of taxies

4. % fares for passengers

Question Number : 57 Question Id : 7559053642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The passengers have to pay the fare as per:

Options:

1. % the calculation done by the software fitted in each taxi
2. % the driver’s calculation at the end of a person’s journey
3. % the amount pre—decided by driver before embarking

4. % the policy of the union of Green Cab companies

Question Id : 7559053637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (53 to 57)
Cesticn Label | Comprehension

o T e e A et % S )
Greer Caks
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Sub questions

Question Number : 53 Question Id : 7559053638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Greer Cabs U0l SgEe & T o T I o e g’y adnied a7

Options:

1. % Taretl, Ugter g1t

2. % UTTA & TH GO

3. % Hhrece, AT ST & T Fear g
4. & far My w9t fwed Har &

Question Number : 54 Question Id : 7559053639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T © & e e o AR 8

Options:

1. % Green Cabs =1 3% o7 egga ®1 5 T i e IE! e a7 0d & 91 o0 0 Ia = & gl
2 % Green Cabs IR & 607 aTg@e &1 ¢ Tl ST Iid e qaT Far AT Skt TET F qd o)

3. ¥ Green Cabs M=l & 0 argde ®1¢ § @il FR1 H gIeiss 5o il 2

4. ® Green Cabs a1l & 7 arqgel @1 § T aTgard i GicraT o Tl |18 i o foi 51 U € )

Question Number : 55 Question Id : 7559053640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



ATF AT AIFeera T T T Teel ST Ta e P § Hag FdT 57
Options:

1. % ITAT 1 ST SR ol GET T T el

2 % grter diavert ux ST TR AT S T 0T

3. % rit @ ea o g Ty o s H e G

4. ol U0 ST SEfT o, Aty BIE Y Y e e

Question Number : 56 Question Id : 7559053641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Green Cabs Jfae g # & 72T e & T & 0i Wideeg 27

Options:

1. ¥ Hewl uw Zithe |

2 ¥ g T Joad

3. % e & aemaAe A

4. % it o oy Temy

Question Number : 57 Question Id : 7559053642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T T H & T SIgET QaT o1 9edT a7

Options:

1.p-'f’ Tead ST | AT S FEaat Gl @l % T 3 SRfET

2 % oyl @ AET % ST B T F 0T & SER

3. % & T H Ugel ATE® G Qe e ol TS T o STga
4 % Green Cabs Ful-at & &9 & A F agaw

QUANTITATIVE AFTITULE

Section Id : 755905392

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 755905392
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 7559053643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In the given question, two equations numbered I and II are given. You have to solve both the equations
and select the appropriate option.

L2 —1lx+15=0
.2y - 1ly+14=0
Options:

1. % x=vy

2 R xsy

IR =y

4. ¥ Relationship between x and v cannot be determined

Question Number : 58 Question Id : 7559053643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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I. 2% _11xF15=0

IL232—1ly+14=0

Options:

1. ¥ x=vy

Z W oxsy

3 E =y

4 ¥ ¥ sy 3 e aaer Rrerfier 9t R o awaT 2

Question Number : 59 Question Id : 7559053644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A gave 25% of an amount to E; from the money E got, he spent 20% on dinner. Cut, of the remaining amournt,
the respective ratio between the amount he kept a5 savings and the amount he spent on buying a book is 5 2.
If B bought the book for 0460, how much money did & hawe in the beginning?

Options:

1. % 012,600
2. % 09,200
3. % 012,000
4. % 09,000

Question Number : 59 Question Id : 7559053644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& B T e T8 w7 25% faam el g2 O # 9 E 9O & @ Ut 30% &l e a9 Ois # 4, B ¥ 9o & w0 H @ e O
%wgﬁiﬁ@ﬁaﬁmaﬁfﬁﬂ? i W AJAT S 2 8 ACE  [Ed® #0460 H GUIaT 8, 97 J50d 0 A o U Fraar
977

Options:
1. % 012,800

2. ¥ 09,200
3. % 012,000
4. % 09,000



Question Number : 60 Question Id : 7559053645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of the question mark (?) in the following number series?

18 18 24 48 108 72
Options:

1. % 254

2 ¥ 228

3 % 212

4 ® 178

Question Number : 60 Question Id : 7559053645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fFeafoiea F&a /@ § 93 REd (?) & TUF W F47 H1Te?
18 18 24 48 108 7

Options:

1. % 254
2. ¥ 228
3 % 212
4 ® 176

Question Number : 61 Question Id : 7559053646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT amount of 0660 15 to be divided among &, E and Cin the ratioof 2 4 & What is the share of C?

Options:

1. ® 017%
Z ¥ 0275
3. % 0375
4. % 0475

Question Number : 61 Question Id : 7559053646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

D660 HTUF T A, B AR CH3 - 4 5 o argura | Tewria &1 T g1 C &7 91T &7 57
Options:

1. % 0175

2.% 0275
3. % O375
4. % 0475

Question Number : 62 Question Id : 7559053647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Population of a country increases every vear by 10%. If the population in January 2006 was 15.8 lakh, then
what will be the population in January 20087



Options:
1.9 1911300

2. % 1896000
3 % 1911600
4 % 1894000

Question Number : 62 Question Id : 7559053647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1.9 1911300

2. % 1896000
3% 1911600
4. ® 1394000

Question Number : 63 Question Id : 7559053648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A can doa work in 10 days. A and B together can do this work in 4 days. In how many days will B be able to
do the same work, alorne?

Options:

16 2
47

Question Number : 63 Question Id : 7559053648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

16 2
47

o
121
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Question Number : 64 Question Id : 7559053649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Study the following arrangement of letters, digits and symbols to answer the question given below:

TOBQ=525RIBLI@YMEGE*+DF4BHTD

How many such letters are there in the arrangement each of which is immediately followed by a number but NOT

unmediately preceded by a svimbol?
Options:
1. %0
2 %1
3.2
4 % 3

Question Number : 64 Question Id : 7559053649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

frdr o wos W SO 29 % TR e, e s wde fr BeeRe aenr w aoegds 9
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Options:
1. %9
o W1
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Question Number : 65 Question Id : 7559053650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Smdy the following smmangement carsfullv to answer the question below.

MIESRBIAKTEROSUDINAmFH2I@EEW

It the order of the first fiftzeen elements in the above armangement is reversed. then which of the following will be the
aighth ta the laft of the rwelfth letter/mumbersymbol from the right and?

Options:
1.9 A

o %
o ® 3
4 ® g

Question Number : 65 Question Id : 7559053650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1.9 4

o ®or

3 % 3

4 B K

Question Number : 66 Question Id : 7559053651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following words will come third if all of thermn are arranged alphabetically as in a dictionary?

Options:

1. ® Animate
2. ¥ Animosity
% % Anguish
4 ® pnkle

Question Number : 66 Question Id : 7559053651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AN eg 160 T 8 i TdT Seql w1 Uk ST Aegmh e @ ST a0TigerH H sOa e f6r =1aT &, 7§ 6 S0 0 R 97 Tog,

Options:
1. % Animate
2. ¥ Animosity



2. % Anguish
4. * Ankle

Question Number : 67 Question Id : 7559053652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following words will come third if all of them are arranged alphabetically as in a dictionary?

Options:

1. * Outrage
2. % Outcast
2. % Owerture
4 ¥ Cwvary

Question Number : 67 Question Id : 7559053652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AR Teg, o T 3 i Tt gl B UwF SIS Aegmisr @ STIan auligwd § sad e a1 =IaT &, a1 § [6¢ S0 0T B 7 Jog,

Options:

1. % Outrage
2. % Outcast
2. % Owerture
4. ¥ Cvary

Question Number : 68 Question Id : 7559053653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
which of the following is the same as Kathalk, Eihu and Garbha?

Options:

1. % Kathakali
2. % Pongal
2. ¥ Ehangra

4. % Eharatnatvam

Question Number : 68 Question Id : 7559053653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TorgTaTaT & & e @, g of Tt T T 3
Options:

1. % eyl

2 % gima

3. ¥ AqmET

4, YFAT=H

Question Number : 69 Question Id : 7559053654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In the following question, there is a certain relationship between two given numbers on one side of ;. One
number is given on another side of © :, while another number is to be found from the given alternatives having
the same relationship with this number as the numbers of the given pair bear. Choose the best alternatives.

75845562 4E¥V3 Y



Options:

1. % 2367
2 ¥ 2451
=% 2521
4 % 2671

Question Number : 69 Question Id : 7559053654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % 2267
= ¥ 2451
3. % 2531
4. % 2671
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Question Number : 70 Question Id : 7559053655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Late Eaja Ravi Verma was an erninent figure in which of the following fields?

Options:

1. % Dance
2. % Politics
3. % History
4. % Painting

Question Number : 70 Question Id : 7559053655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
T TRAT i anT, e # | S g o U nid e o 247

Options:



1. % I
o % I
3. % =iy
4 ¥ =3

Question Number : 71 Question Id : 7559053656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Dronacharya Award for sports coaches was instituted in the year:

Options:

1. % 1934
= ¥ 1985
3. % 1987
4 % 1988

Question Number : 71 Question Id : 7559053656 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

et Widtger! 3 oy G e & T e g s ot
Options:

1. % 1984

2. ¥ 1985

3. % 1987

4. % 1988

Question Number : 72 Question Id : 7559053657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The rate of erosion in a stream is lowest where:

Options:

1. ¥ the river joins the sea
= % the depth is greater
2. #* the breadth is greater

4. % the velocity is more

Question Number : 72 Question Id : 7559053657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 73 Question Id : 7559053658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
IMew oil fields in Upper Assam are in:

Options:



1. % HMaharkatia and Moran
2. % Ankleshwar and MNavagram
3. % Kalol and Sobhasan

4. % Dibrugarh

Question Number : 73 Question Id : 7559053658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FUL A H AT dF 8T wET e

Options:

1. & SETEpieaT K AR
2 % agmreR dN Tauw
3. % e o FrET

4 % TZgmg

Question Number : 74 Question Id : 7559053659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Who was the President of the Comrnittee on whose recormmendation was the Panchavati Raj established in
India?

Options:

1. ¥ Balwant Rai Mehta
2. % Azholk Mehta

2. % Dr. Igbal Marayan
4. % Jeevraj Mehta

Question Number : 74 Question Id : 7559053659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1. & e 09 Agar
2. % ararier HgdT

3. ® ET ghalel TR0
4, ¥ FfEr Hgar

Question Number : 75 Question Id : 7559053660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Consider the following statements about the Indian National Antherr:

1. It was first sung on 27 Decemnber 1911 at the Calcutta Session of the Indian Mational Congress.
2. It was adopted by the Constituent Assembly on 24 January 1950,
3. Plaving time of the full version of the MNational Anthem is approximately 52 seconds.

which of the given statemernt(s) is/are correct?
Options:

1. % Only 1

Z % COnly 1and 2

3% Cnly 2and 2

4 % 1 2and3



Question Number : 75 Question Id : 7559053660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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We all have dealt with surnmer heat and have hated it most of the time. Skin eruptions, sweat and dehydration,
surmmers are mostly about these problems. However, thanks to Avurveda that practices the science of natural
health and has a lot to offer. According to experts, it is important to consume maore alkaline foods in order to
fight the heat in the body. Eat water-rich foods that will not only rehydrate your body but also have
antioxidants that keep vou healthy. Consume onions, green vegetables and drink lots of water. Basically, you
should ensure that there is no dryness that instills as it mmay heat up the body causing various health
problems. Here are some Avurvedic tips to stay cool this surmmer. Make sure you follow them to beat the heat.
Eat foods that beat the heat. You must ensure eating foods that cool yvour body and give you relief from
excessive heat. Load up on water-rich fruits like watermelon, pears, apples, plums and berries. Pick vegetables
like sprouts and cucumber. Avoid foods that will produce heat in vour body and become hazardous. Avoid
sour fruits, citrus fruits, beetroots and carrots as they have a tendency to heat up your body. Limit the intake
of garlic, chili, tormato, sour cream and salted cheese to avoid hampering your systern. Eat more salad in lunch,
a5 they have cooling properties, Try avolding dark meats as they heat up your body. Eat at the right time.
Always eat when your digestive fire is at its strongest, which is during lunch or mid-day. Missing your lunch
during surmmers is equal to upsetting your stormach that further makes you feel irritated and annoyed. Ering
CoConut oil to your rescue. As a part of your daily routine, rub five to six ounces of coconut oil on your body
before taking a bath in the morning. It gives a calming, cooling and soothing effect to the skin. You can use
sunflower oil alternatively. Avoid hot drinks or hot water. Drinking hot beverages will invite an upset health.
This 15 why wou st always choose 1o drink beverages at room termperature in order to balance it Awoid
streriuous exercise. [t is always good to exercise early in the morning as it is the coolest part of the day.
Engaging in vigorous exercises during other parts of the day may heat up the body only to cause harm. Make
use of cooling oils. Bring sandalwood and jasmine oils to your rescue. Not only do they have a soothing aroma,
bt also are known to have cocling properties. Avoid ice cold drinks. Ice cold drinks only inhibit digestion and
create toxins in the body. Your digestive systermn has a digestive fire that is responsible for converting food into
energy. Drinking chilled beverages is almost like putting off the digestive fire causing various health problems.
Take a cold bath or shower. Taking a cold water shower is probably the most cormmon way to keep yourself
cool. Goon and follow these important Avurvedic tips to keep cool in order to beat the heat. Happy Surnmers.
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